Mr. Cadman
Math 8 	Expressions
Match the Expressions and Equations 
2x + 2			n – 6			45 ÷ n			56 x b
50 – 8t		4n + 7			x – 9			h – 12 = 15
8 ÷ p = 2		y + 3 = 7		9 – p = 2		7n – 1 = 6
8j = 5			8y + 8 = 22		30 + u = 42		2n + 5 = 29		
(27 -5) – 10 = n	8 + 7e = 16		(20 ÷ n) – 3 = 2

	
	45 divided by a number

	
	6 less than a number
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	7 more than 4 times a number

	
	8 multiplied by a number equals 5

	
	9 minus a number is 2?

	
	A number increased by three equals 7

	
	Eight more than eight multiplied by a number is 22

	
	Fifty decreased by 8 times a number

	
	One less than seven times a number is equal 6

	
	Seven times a number more than eight equals 16

	
	Take away 9 from a number

	
	The difference of 27 and 5 decreased by 10 is what number?

	
	The product of 56 and a number

	
	The quotient of 8 and a number is equal to 2

	
	The quotient of twenty and a number, decreased by three is equal to two

	
	The sum of 30 and a number is 42

	
	The sum of two times a number and 5 is 29

	
	Twelve subtracted from a number is 15

	
	Two times a number add 2






